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5. EHIEFRHKLIL A BITEMER LT
© £# © HMMEEREE

1)\
2).
3).
4)
5).
6).
7).
8).
9).

O BEHREENERITHE:

1\

4.

B4 m1=300 kg

TEaRE (ABEHA) m2=30kg A

s || ]

752 L=850 mm
BRREITHEIER T<45s
REKLATATRE R D=32mm
RIR 4T S72 Ph=25mm
RERZALRKE Lb=1000 mm

BXHES

SRR (O]

[

ZUSHSRREERR =01 (BRRBELNLRE)

TEEM?2

LSRR IBR

Lt

RIRLATE

o]

RIAATHURE 0 =0.9 (BHAAT 1=0.3-0.6) | V’ i
i

REITHE

K

IR fn % & a=0.025 m/s’,
PR ) 11 R 1235979 1s,
SRBITERE V=25 mm/s

I 22 4T B ' %% 3& n=V+Ph

3 BV (m/min)

=25-+25=1rps=60 rpm;

IR RIS (TS L=2x1/2xaxt1?
=0.025x 1°=0.025 m=25 mm;

AT {TEEE H 850-25=825 mm, Hfja)Fy 825+25=33s;
M| 8 F2 SLFRIZFTRS[E) 79 33+2x 1=355<45 s,
HRIBITHREEX.

FEARBE, BREZNF. BREBHEN F2

Fl=pux(m1+m2)xg xA+B=0.1x(300+30) x9.8 =323.4N (i%A=B)
LM SEAB R E P HF2

B BABIRE S =5N, SBREE: 44

F2=4 x5=20 N

AT Se AR A HUAN R 12 70 B B 5B M1

M1 = FPh _ (F1+F2+mig+m2g)Ph _ (323.4 +20+300x9.8+30x9.8) x0.025
2mn 2mn 2x3.14x0.9

FRIRZZ AT B TR 1 B STHE 3 7R 7= AR Y R 18R 4 26 M2
M2=1N-m (Fifh, HHRERFETSEN)

=15.8N -




5. SRE

2ZZFTIRE J1
M= 20 xp'xLb= %x (32x10°)*x 1000 x10°=8.13x 10* kg - m’

EHZHBIRE J2

25x10°

o )?=5.23x10°kg - m’

2= (mi+m2) x(%)2=(300+30) X (

EXH2R IR E J3
J3=0.04x10" kg - m* (FAfH)
BIRE

J=J1+J2+J3 = (8.13+52.3+0.04) x 10 =60.47 x 10" kg - m”

6. INIERS IR E AR AL M3

2 x 60
60 x 1

M3=J a =60.47 x10*x6.28=0.038 N - m

=6.28rad/s’

AMEE A =

7. RIAHEEM
M= ( M1+M2+M3 ) x S =(15.8+1+0.038) x 2=33.7N - m
(SHZERH, —M1.5~2, EEFEERFN2)

8. LAM=33.7N-m, n=60rpm &g <& EF[2]y P247,
ABFIEEMBEIT R, BIRA BB .
E=4H220V 250 W BB EL I AR R AL, ORCE EET - 20
B EEAE 342N - m>33.6N - m,
3R n=70 rpm > 60 rpm,
L inizs, & <GREERR2]D P68, S A025
BEHEARSEBARATHMRES, HERRREmaEE
B MBI R ELEEL, 2% <GE&BZR[2]> P269 I P310 ;1.

B250Y22L20RT A025%% 57 28

327



